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https://www.100test.com/kao_ti2020/293/2021 2022 E5 95 86 E
5 8A Al E8 8B B1 E8 ¢85 293943.htm Backer UJ [1 [J e.g. For
thirty years, this wealthy American businessman was the backer of
this enormously expensive project of photographing. 300J [ J 00 [
JodododododododoUdododotBacklog
[1 [ e.g. we are now faced with a sizeable backlog of orders. O [J [J
DO00000000000 0 Backpack U [ e.g. The
backpack-type parachute, which is being marketed in the United
States and Japan, has a $ 795 price tag and weighs four pounds. (I [
Jodododooorstouo4ooououooun
Jodo0o0d00Backpay OO OO ooooon

[1 e.g. She received 6 months’ back pay in here July pay packet. [
Jo7000000000060000000O0Backupld
00O OO0 e.g. Did you make up abackup copy? 0 0O O 0O O O
[1 [ balance of payment [1 I [ [ UJ 00 [J BOPe.g. Itis also likely
lead to a rise in imports and problems with balance of payment. (1 [
Jod0od0odododododoUododoBalance
sheet D OO O,000 00O O O e.g. successful managers must
know how to read the balancesheet. D O OO0 OO OO0 0O OO
Jo00000OBalparkl OO OOOOOOOOOOOO
(1 O O e.g. The two sides eventually found themselves in the same
generalballpark. D O O U0 O OO UOOO0OOO0OOOOOO O Ball
park 2 00 O O O O e.g. Unfortunately I can only give you ballpark
figurestoday. 1 O D O O0dododododododod



[1 Bancassurance [J [ O U OO, O O bankassurance e.g. The job
losses stem largely from the amalgamation of TSB’ s bank and
Insurance operations into a unified * bancassurance’ . 0 [ O [
Jododododododooodooodooodo
Jo000000000000Obaserate 000 0OOOO
[ e.g. the interest which a bank charges on loans is at a rate which is
usually higherthanitsbaserate. U O 0 0000000000
OO 0O00OOBatch U U O 0O O e.g. this is batch of watches that all
havethesamefault. O OO OO 00O O OO O U e.g. the first
batch of applicants was being processed by the personnel
department. D0 OO0 O0O0OOO0OOOOOOBathmat O O O
OBearmarket 0 (DD OO 0OO0OO0OO0OOOOOOOO
[1 00 )e.g. if the market is thought to be poor and prices on the Stock
Exchange are thought to be likely to fall, the market is called to be a
bearmarket 0000000 O0OO0OOOOOOO0O

[0 Benchmark O O O O O O O e.g. these price will act as a
benchmark forotherfirms. OO0 U O 0000000 oOOdn

[J Beneficiary I [J [ e.g. the beneficiary-the person who gets the
money when someone dies-is usually a member of the policyholder
Csfamily. D 00D 000000000 ooooooon

(I Benefit premium. (L O O O O O O )0 O O O e.g. your benefit
premium is the additional amount over and above base pay which is
provided to help fund your benefits. D O OO0 OO0 OO0 0O OO
Jodo0dododododouotodono U Benefits
package O O OoUdodooododouooouood
OO000000000D0O O e.g. Because it was necessary to drive



long distances to see customers, the benefits package we offered to
sales people at our company included anew car. O U U 0O O O [
J000o00o0o00ooooooooooooooon
0 00000 O e.g. She was offered an excellent benefits package
attheinterview. D D 0000000000 O0OOODOOO

[ best sellingauthor 0 00 O O O BigBlue O O OO OO IBM O
Joodobooooooooooooooooon

[ Big-ticket (1 U0 ) O O 0O O O O O e.g. Automobile is still a
big-ticketitem. U U O OO 0O O OO OBilingual O OO 0O O O
OO0000000 0O O e.g. suitable bilingual applicants will have
worked in a similar position here or abroad for at least two years. []
J000o00o0oo0oodooooooooooooon
OO00000000000Oe.g. To be bilingual, one has to be
bicultural D D 0O 00OO0O0OO0OOO0ODOOOOO 100Test O [
Jododobodooooouooooooood
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